

Kansas Corporation Commission Oil & Gas Conservation Division

137594

Form ACO-1
June 2009
Form Must Be Typed
Form must be Signed
All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No. 15
Name:	Spot Description:
Address 1:	SecTwpS. R
Address 2:	Feet from North / South Line of Section
City: State: Zip:+	Feet from East / West Line of Section
Contact Person:	Footages Calculated from Nearest Outside Section Corner:
Phone: ()	□NE □NW □SE □SW
CONTRACTOR: License #	County:
Name:	Lease Name: Well #:
Wellsite Geologist:	Field Name:
Purchaser:	Producing Formation:
Designate Type of Completion:	Elevation: Ground: Kelly Bushing:
New Well Re-Entry Workover	Total Depth: Plug Back Total Depth:
Oil WSW SWD SIOW Gas D&A ENHR SIGW OG GSW Temp. Abd. CM (Coal Bed Methane) Cathodic Other (Core, Expl., etc.):	Amount of Surface Pipe Set and Cemented at: Feet Multiple Stage Cementing Collar Used? Yes No If yes, show depth set: Feet If Alternate II completion, cement circulated from: sx cmt
Operator:	
Well Name:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth: Deepening Re-perf. Conv. to ENHR Conv. to SWD Conv. to GSW	Chloride content: ppm Fluid volume: bbls Dewatering method used:
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled Permit #:	Operator Name:
Dual Completion Permit #:	Lease Name: License #:
SWD Permit #:	QuarterSec TwpS. R
ENHR Permit #:	County: Permit #:
GSW Permit #:	. 5
Spud Date or Date Reached TD Completion Date or Recompletion Date Recompletion Date	

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY			
Letter of Confidentiality Received			
Date:			
Confidential Release Date:			
Wireline Log Received			
Geologist Report Received			
UIC Distribution			
ALT I II III Approved by: Date:			

Side Two



Operator Name:			Lease N	Name:			_ Well #:		
Sec Twp	S. R	East West	County	:					
NSTRUCTIONS: Show ime tool open and clost recovery, and flow rates ine Logs surveyed. Att	ed, flowing and shut if gas to surface tes	in pressures, wheth t, along with final ch	er shut-in press	sure reache	d static level,	hydrostatic pres	sures, bottom h	ole tempera	ture, fluid
Drill Stem Tests Taken (Attach Additional Sh	neets)	Yes No)	Log	Formation	n (Top), Depth ar	nd Datum	Sam	ıple
Samples Sent to Geolo	gical Survey	☐ Yes ☐ No)	Name			Тор	Datu	ım
Cores Taken Electric Log Run Electric Log Submitted (If no, Submit Copy)		Yes No)						
ist All E. Logs Run:									
		CAS Report all strings	ING RECORD set-conductor, su	New	Used	on, etc.			
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weig Lbs./		Setting Depth	Type of Cement	# Sacks Used	Type and Addit	
		ADDITIO	NIAL CEMENTIN	IC / SOUEE	7E DECORD				
Purpose:	Depth	Type of Cement	WAL CEMENTING # Sacks		ZE RECORD	Type and I	Percent Additives		
Perforate Protect Casing Plug Back TD Plug Off Zone	Top Bottom	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			
Shots Per Foot	PERFORATIO Specify F	ON RECORD - Bridge ootage of Each Interva	Plugs Set/Type I Perforated			cture, Shot, Cemen		d	Depth
TUBING RECORD:	Size:	Set At:	Packer At	t: L	iner Run:	Yes No)		
Date of First, Resumed P	roduction, SWD or ENF	HR. Producing		g Gas	s Lift 0	ther (Explain)			
Estimated Production Per 24 Hours	Oil B	Bbls. Gas	Mcf	Water	Bb	ols.	Gas-Oil Ratio	(Gravity
DISPOSITION	N OF GAS:		METHOD OF	COMPLETIO	DN:		PRODI ICTIC	ON INTERVAL	
Vented Sold	Used on Lease	Open Hole	Perf.	Dually Co	mp. Com	nmingled	1 10000110	ZI TI TI LIVAL	
(If vented, Subm		Other (Specif	v)	(Submit ACC	-5) (Subr	nit ACO-4)			

ALLIED OIL & GAS SERVICES, LLC 059267 V Federal Tax I.D.# 20-5976804

REMIT TO P.O. BOX 93999	SERVICE POINT:
SOUTHLAKE, TEXAS 76092	Sheat Band, Ke
	A-18-23 2-19-23 LED OUT ON LOCATION LIGHT THE FINISH
DATE 2-19-13 SES TWP. RANGE CAL	700PM 10130 PM 3207M 4/DD 4/M
LEASE NOVELL# 1-36 LOCATION Burley	Hill to west gownty state
OLD OR(NEW) (Circle one) Nooh into	R5 11 83
CONTRACTOR Val Rig 2	OWNER Scome J. D.
TYPE OF JOB Surface T.D. 455	
HOLE SIZE 124" T.D. 455	CEMENT
CASING SIZE 名子 8" DEPTH 454, 75	AMOUNT ORDERED 150 No. LIT. 380CC
TUBING SIZE DEPTH	2 4 flored per South
	125 clar H 37050 E Flower M
TOOL DEPTH	7.1 2 <u>0</u>
PRES. MAX DOW MINIMUM ZOO	COMMON
MEAS. LINE SHOE JOINT 40 38	POZIVIA
CEMENT LEFT IN CSG.40.3%	GEL @ CHLORIDE 9 @ 49.00 576.00
PERFS.	0.112011122
DISPLACEMENT 26 39 bbls	ASC @ 23.40 2.925.58
EQUIPMENT	C1955 H 125 98 @ 23.40 2.925.88
	Like w+ 1505X @ 14.50 2.475.60
PUMPTRUCK CEMENTER I Dulane	\$10 DEQ1 138 @2.97 409.84
# 606 HELPER POT Holgeron /	
BULKTRUCK	
# 693 DRIVER Josh Monston 2	@
BULK TRUCK	@
# DRIVER	HANDLING 301. 43 @ 2.48 747. 59
# DRITER	HANDLING 301. 43 @ 2.48 747. 54 MILEAGE 13.09 X/0 X 2.60 340. 48
	D = - 29
REMARKS:	130,94 TOTAL 7. 473.83
and the second of the second o	571.71 . 1 . 1
15- 454 15 of 858 con 13 value	1900
Roy 454,75 of 878 cry Brake	SERVICE
Charlette Missa Both Lite	SERVICE
Circulation Missa (Soul) it. 32cc 12 "Flored of Follows Aug.	DEPTH OF IOR 454.75
Circulation Missa (Soul) it. 32cc 12 "Flored of Follows Aug.	SERVICE DEPTH OF JOB 454.7.5 PUMP TRUCK CHARGE /512, 25
Circulation Missa (Soul) it. 32cc 12 "Flored of Follows Aug.	DEPTH OF JOB 454.7.5 PUMP TRUCK CHARGE /512.25 EXTRA FOOTAGE @
Charloton Mind 1902 1 it. 33cc 12 of well followed by 125ch Clau H. 35cc 12 of Flower A. 126co 2 flag Deglesid with from 126co 3 flag Deglesid with from 120 Lander Hay of 100 th, Palkows	SERVICE DEPTH OF JOB 454.75 PUMP TRUCK CHARGE /5/2.25 EXTRA FOOTAGE @ 7.70 77.22
Circulate Mind 1902 Lite 320CC 19 FRom 1/26 Followed By 12 Sile Class H. 3500C, 19 Flowed Inches 12 Sile Class Hug. Desplaced with freely 14 70, Landes Plus of 1507 H. Vallaces	SERVICE
Charlotten Misso 130 M. 1 it. 38cc 12 # Flour Hos Follows A. 125 L. Clan H. 35cc, 13 # Flour Hollow 126 Lever 1 May Neeplock with freely 1470. Lander Hollow 500 Flour Hollow 600 Flour Hollow	SERVICE DEPTH OF JOB 454.75 PUMP TRUCK CHARGE /512. 25 EXTRA FOOTAGE @ 7.70 77.99 MILEAGE HUM 10 @ 7.70 77.99 MANIFOLD LV M 10 @ 4.40 44.99 Hack Parked @ 275.00
Charlotten Misso 130 M. 1 it. 38cc 12 # Flour Hos Follows A. 125 L. Clan H. 35cc, 13 # Flour Hollow 126 Levent Plug. Desplaced with freely 140. Lander Hollow 500 Flour Hollow	SERVICE
Charleton Missa 1901 Lite 38cc 12 #Flourith Following By 1251 Clay H. 35cc, 13 # Flourith 126cc 2 Huy Daylorid with Joseph 126cc 2 Huy Daylorid with Joseph 127 Holdow Carrent Nid Weekto 301 wall	SERVICE DEPTH OF JOB 454.75 PUMP TRUCK CHARGE /5/2. 25 EXTRA POOTAGE @ 7.70 77.20 MILEAGE Hum 10 @ 7.70 77.20 MANIFOLD LU W 10 @ 4.40 44.89 \$\frac{1}{2} \text{Pontal} @ 275.20 @
Charleton Missa 1901 Lite 38cc 12 #Flourith Following By 1251 Clay H. 35cc, 13 # Flourith 126cc 2 Huy Daylorid with Joseph 126cc 2 Huy Daylorid with Joseph 127 Holdow Carrent Nid Weekto 301 wall	SERVICE DEPTH OF JOB 454.75 PUMP TRUCK CHARGE /5/2. 25 EXTRA POOTAGE @ 7.70 77.20 MILEAGE Hum 10 @ 7.70 77.20 MANIFOLD LU W 10 @ 4.40 44.89 \$\frac{1}{2} \text{Pontal} @ 275.20 @
Charleton Missa 1902 Lite 37000 12 Ff wind of followed by 125 th Clan H. 37000 12 Ff Flowed by 126 th Clan H. Displaced with fresh 120 hands Plus of ton H. Palkows Cond Floot Hald Welleto 30sh in Pr CHARGE TO: C Fe co a parating 145	SERVICE DEPTH OF JOB 454.75 PUMP TRUCK CHARGE /512. 25 EXTRA FOOTAGE @ 7.70 77.99 MILEAGE HUM 10 @ 7.70 77.99 MANIFOLD LV M 10 @ 4.40 44.99 Hack Parked @ 275.00
Charleton Mind 1902 1 it. 37000 12 Ff wind of followed by 125 th Clan H. 37000 12 Ff Flowed by 126 and Plus Displaced with four 120 hamded Plus of the Hilliam Cond Front Hall when of the Prince Cerrerot No Wouldto 302 in Pri CHARGE TO: C Fe co a paration 125 STREET 20 1914 Horny of FE 1140	SERVICE DEPTH OF JOB 454.75 PUMP TRUCK CHARGE /512. 25 EXTRA FOOTAGE @ 7.70 77.22 MILEAGE HUM 10 @ 7.70 77.22 MANIFOLD LV M 10 @ 4.40 44.22 Hard Restand @ 275.22 @ TOTAL 1.908. 25
Charleton Missa 1902 Lite 37000 12 Ff wind of followed by 125 th Clan H. 37000 12 Ff Flowed by 126 th Clan H. Displaced with fresh 120 hands Plus of ton H. Palkows Cond Floot Hald Welleto 30sh in Pr CHARGE TO: C Fe co a parating 145	SERVICE DEPTH OF JOB 454.75 PUMP TRUCK CHARGE /5/2. 25 EXTRA POOTAGE @ 7.70 77.20 MILEAGE Hum 10 @ 7.70 77.20 MANIFOLD LU W 10 @ 4.40 44.89 \$\frac{1}{2} \text{Pontal} @ 275.20 @
Charleton Mind 1902 1 it. 37000 12 Ff wind of followed by 125 th Clan H. 37000 12 Ff Flowed by 126 and Plus Displaced with four 120 hamded Plus of the Hilliam Cond Front Hall when of the Prince Cerrerot No Wouldto 302 in Pri CHARGE TO: C Fe co a paration 125 STREET 20 1914 Horny of FE 1140	SERVICE DEPTH OF JOB 454.75 PUMP TRUCK CHARGE /512. 25 EXTRA FOOTAGE @ 7.70 77.22 MILEAGE HUM 10 @ 7.70 77.22 MANIFOLD LV M 10 @ 4.40 44.22 Hard Restand @ 275.22 @ TOTAL 1.908. 25
Charleton Mind 1902 1 it. 37000 12 Ff wind of followed by 125 th Clan H. 37000 12 Ff Flowed by 126 and Plus Displaced with four 120 hamded Plus of the Hilliam Cond Front Hall when of the Prince Cerrerot No Wouldto 302 in Pri CHARGE TO: C Fe co a paration 125 STREET 20 1914 Horny of FE 1140	SERVICE DEPTH OF JOB 454.75 PUMP TRUCK CHARGE /512.25 EXTRA FOOTAGE @ 7.70 77.22 MANIFOLD LUM 10 @ 9.90 44.29 HD 2 PONTAL 258.25 PLUG & FLOAT EQUIPMENT 284 AFD ENACCT @ 496.99 496.29
Charleton Mind 1902 1 it. 37000 12 Ff wind of followed by 125 th Clan H. 37000 12 Ff Flowed by 126 and Plus Displaced with four 120 hamded Plus of the Hilliam Cond Front Hall when of the Prince Cerrerot No Wouldto 302 in Pri CHARGE TO: C Fe co a paration 125 STREET 20 1914 Horny of FE 1140	SERVICE DEPTH OF JOB 454.75 PUMP TRUCK CHARGE /512.25 EXTRA FOOTAGE @ 7.70 77.22 MANIFOLD LUM 10 @ 9.90 44.29 HOLD PONTAL 258.25 PLUG & FLOAT EQUIPMENT RES HULLS COM 940.99 440.29 EXTRA FOUTAGE @ 476.99 440.29 EXTRA FOUTAGE @ 476.99 440.29 EXTRA FOUTAGE @ 460.88
Charleton Missa 1902 1 it. 38cc 1/4 of Enrich followed By 1252 he clay H. Seoco 1/4 placed By 1252 he clay Desplaced with fresh 1200 handed flux of the H. Heldow Cond Float H. B. Charge To: C reco a peretric the STREET 20 1914 Huny 15 fe 1190 CITY OK STATEOK ZIP 73102	SERVICE DEPTH OF JOB 454.75 PUMP TRUCK CHARGE /512.25 EXTRA FOOTAGE @ 7.70 77.22 MANIFOLD LUM 10 @ 9.90 44.29 HD 2 PONTAL 258.25 PLUG & FLOAT EQUIPMENT 284 AFD ENACCT @ 496.99 496.29
Charleton Missa 1902 1 it. 38cc 12 # Flored A Followed By 125ah Clare H. Seoco 12 # Flored A. 125ah Clare H. Seoco 12 # Flored A. 125ah Clare H. Seoco 12 # Flored A. 125ah Clare H. Seoco 12 # H. Heland 135ah Clare H. Heland 135a	SERVICE DEPTH OF JOB 454.75 PUMP TRUCK CHARGE /512. 25 EXTRA POOTAGE @ 7.70 77.20 MILEAGE HUM 10 @ 7.70 77.20 MANIFOLD LUM 10 @ 9.40 44.29 HOLD ROWN 275.00 PLUG & FLOAT EQUIPMENT 878 AFD INACT @ 446.94 446.25 878 AGUBEL PLUS @ 131.04 131.24
Charleton Missa 1 John 1 it. 3 occ 12 of which followed his 25 alm Clare H. Stock 12 of Flowed his 125 alm Clare H. Stock 12 of Flowed his 25 alm Clare H. Stock 12 of Flowed his 26 of Flower H. S. Woulsto 30 alm in Ad CHARGE TO: C reco of peration H. Malanes CHARGE TO: C reco of peration H. Stock 12 of Felly O CITY Off STATEOK 21p 73102 To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment	SERVICE DEPTH OF JOB 454.75 PUMP TRUCK CHARGE /512. 25 EXTRA POOTAGE @ 7.70 77.20 MILEAGE HUM 10 @ 7.70 77.20 MANIFOLD LU W 10 @ 9.40 44.89 HOLD ROOTAL 275.00 PLUG & FLOAT EQUIPMENT 878 AFD JNACT @ 446.94 446.98 878 Huddiffed @ 466.88 460.88
Charleton Missa 1 John 1 it. 3 occ 12 4 1 months followed by 25 alm clan H. Stoce, 14 4 flowed by 10 hands flux of the Hallowed Charle To. Creco a paration H. Hallowed Charle To. Creco a paration H. Hallowed CHARGE TO. Creco a paration	SERVICE DEPTH OF JOB 454.75 PUMP TRUCK CHARGE /5/2. 25 EXTRA POOTAGE @ 7.70 77.20 MILEAGE HUM 10 @ 7.70 77.20 MANIFOLD LU W 10 @ 4.40 44. 32 # 275.20 PLUG & FLOAT EQUIPMENT **STA HUMBEL PLUS @ 131.24 BY G. 151.22 @ 131.24 151.22 25
Charleton Missa 1 South 1 it. 3 occ 12 4 ft world followed by 25 alm clan H. Stoce, 14 ft flowed by 10 hands flux of the Hallow Charleton H. South H. Hallow Charleton H. Stoce of paratic the Street H. Stoce of parati	SERVICE DEPTH OF JOB 454.75 PUMP TRUCK CHARGE /5/2. 25 EXTRA POOTAGE @ 7.70 77.20 MILEAGE HUM 10 @ 7.70 77.20 MANIFOLD LU W 10 @ 4.40 44. 32 # 275.20 PLUG & FLOAT EQUIPMENT **STA HUMBEL PLUS @ 131.24 BY G. 151.22 @ 131.24 151.22 25
Charleton Missa 1 South 1 it. 3 Soco 12 # Flored of Followed By 12 Substitute of the Plane of the Soco 12 # Flored of the Soco 12 # Flored of the Soco 12 # Flored of the Society of the	SERVICE DEPTH OF JOB 454.75 PUMP TRUCK CHARGE /5/2. 25 EXTRA POOTAGE @ 7.70 77.20 MILEAGE HUM 10 @ 7.70 77.20 MANIFOLD LU W 10 @ 4.40 44. 32 # 275.20 PLUG & FLOAT EQUIPMENT **STA HUMBEL PLUS @ 131.24 BY G. 151.22 @ 131.24 151.22 25
Charleton Missa 1 South 1 it. 3 Soco 12 # Flored of Followed By 12 Substituted Plans of the Planship 13 Substituted Plans of the Hollowed 14 Substituted Plans of the Hollowed 15 Substituted Plans of the Hollowed 15 Substituted Plans of the Hollowed 15 State Planship 15 State Planship 16 State Planship 17 State Planship 18 S	SERVICE DEPTH OF JOB 454.75 PUMP TRUCK CHARGE /5/2. 25 EXTRA POOTAGE @ 7.70 77.20 MILEAGE HUM 10 @ 7.70 77.20 MANIFOLD LU W 10 @ 4.40 44.89 HOLD ROWN @ 275.20 @ TOTAL 1.90 8. 25 PLUG & FLOAT EQUIPMENT 878 AND INACT @ 446.99 446. 24 878 AND INACT @ 466.88 466. 25 878 AND INAC
Charleton Missa 1 South 1 it. 3 Soco 12 # Flored of Followed By 12 Substitute of the Plane of the Soco 12 # Flored of the Soco 12 # Flored of the Soco 12 # Flored of the Society of the	SERVICE DEPTH OF JOB 454.75 PUMP TRUCK CHARGE /512.25 EXTRA FOOTAGE @ 7.70 77.22 MILEAGE HUM 10 @ 7.70 77.22 MANIFOLD LUM 10 @ 9.40 44.29 HOLD POOTAL 258.25 PLUG & FLOAT EQUIPMENT 878 AFD ENANT @ 446.78 460.88 878 AFD ENANT @ 460.78 460.88 878 AGD ENANT @ 460.78 460.88 878 AGD ENANT @ 131.24 151.22 874 AGD ENANT @ 131.24 151.22 875 AGD ENANT @ 131.24 151.22
Charleton Missa 1 South 1 it. 3 Soco 12 # Flored of Followed By 12 Substituted Plans of the Planship 13 Substituted Plans of the Hollowed 14 Substituted Plans of the Hollowed 15 Substituted Plans of the Hollowed 15 Substituted Plans of the Hollowed 15 State Planship 15 State Planship 16 State Planship 17 State Planship 18 S	SERVICE DEPTH OF JOB 454.75 PUMP TRUCK CHARGE /5/2. 25 EXTRA POOTAGE @ 7.70 77.20 MILEAGE HUM 10 @ 7.70 77.20 MANIFOLD LU W 10 @ 4.40 44.89 HOLD ROWN @ 275.20 @ TOTAL 1.90 8. 25 PLUG & FLOAT EQUIPMENT 878 AND INACT @ 446.99 446. 24 878 AND INACT @ 466.88 466. 25 878 AND INAC
Charleton Missa 1 South 1 it. 3 Soco 12 # Flored of Followed By 12 Substituted Purples of the Flored of the Soco 12 # Flored of the Soco 12 # Flored of the Society of th	SERVICE DEPTH OF JOB 454.75 PUMP TRUCK CHARGE /5/2. 25 EXTRA POOTAGE @ 7.70 77.20 MILEAGE HUM 10 @ 7.70 77.20 MANIFOLD LUM 10 @ 4.40 44.89 HOLD ROWN @ 275.20 @ TOTAL 1.90 8. 25 PLUG & FLOAT EQUIPMENT 878 AND INACCT @ 446.78 460. 25 878 AND INACCT @ 460.78 460. 25 878 AND INACCT @ 460.78 460. 25 878 AND INACCT @ 131.24 151. 22 8 SALES TAX (IF Any) 616.22 TOTAL 1.038. 94 TOTAL CHARGES 10.421. 06 TOTAL CHARGES 10.421. 06
Charleton Missa 1 South 1 it. 3 Soco 12 # Flored of Followed By 12 Substituted Plans of the Planship 13 Substituted Plans of the Hollowed 14 Substituted Plans of the Hollowed 15 Substituted Plans of the Hollowed 15 Substituted Plans of the Hollowed 15 State Planship 15 State Planship 16 State Planship 17 State Planship 18 S	SERVICE DEPTH OF JOB 454.75 PUMP TRUCK CHARGE /512.25 EXTRA FOOTAGE @ 7.70 77.22 MILEAGE HUM 10 @ 7.70 77.22 MANIFOLD LUM 10 @ 9.40 44.29 HOLD POOTAL 258.25 PLUG & FLOAT EQUIPMENT 878 AFD ENANT @ 446.78 460.88 878 AFD ENANT @ 460.78 460.88 878 AGD ENANT @ 460.78 460.88 878 AGD ENANT @ 131.24 151.22 874 AGD ENANT @ 131.24 151.22 875 AGD ENANT @ 131.24 151.22
Charleton Missa 1 South 1 it. 3 Soco 12 # Flored of Followed By 12 Substituted Purples of the Flored of the Soco 12 # Flored of the Soco 12 # Flored of the Society of th	SERVICE DEPTH OF JOB 454.75 PUMP TRUCK CHARGE /5/2. 25 EXTRA POOTAGE @ 7.70 77.20 MILEAGE HUM 10 @ 7.70 77.20 MANIFOLD LUM 10 @ 4.40 44.89 HOLD ROWN @ 275.20 @ TOTAL 1.90 8. 25 PLUG & FLOAT EQUIPMENT 878 AND INACCT @ 446.78 460. 25 878 AND INACCT @ 460.78 460. 25 878 AND INACCT @ 460.78 460. 25 878 AND INACCT @ 131.24 151. 22 8 SALES TAX (IF Any) 616.22 TOTAL 1.038. 94 TOTAL CHARGES 10.421. 06 TOTAL CHARGES 10.421. 06
Charleton Missa 1 South 1 it. 3 Soco 12 # Flored of Followed By 12 Substituted Purples of the Flored of the Soco 12 # Flored of the Soco 12 # Flored of the Society of th	SERVICE DEPTH OF JOB 454.75 PUMP TRUCK CHARGE /5/2. 25 EXTRA POOTAGE @ 7.70 77. 22 MILEAGE HUM 10 @ 7.70 77. 22 MANIFOLD LV W 10 @ 4.40 44. 32 HOLD ROW 10 @ 4.40 44. 32 PLUG & FLOAT EQUIPMENT PLUG & FLOAT EQUIPMENT 878 HUMBERS @ 460. 25 460. 25 SALES TAX (If Any) 6/6. 26 TOTAL 1.038. 94 TOTAL CHARGES 10.421. 26 2.084. 31

ALLIED OIL & GAS SERVICES, LLC 059270

Federal Tax I.D.# 20-5975804 REMIT TO P.O. BOX 93999 SERVICE POINT: SOUTHLAKE, TEXAS 76092 Must Ring K ON LOCATION RANGE CALLED OUT JOB START 10B FINISH 8,00 P.M DATEJ-27-13 13 10:00 hm COUNTY STATE WELL#)-36 LOCATIONB OLD OR NEW (Circle one) CONTRACTOR Val OWNER TYPE OF JOB TOOL HOLE SIZE 778 T.D. 3462 CEMENT AMOUNT ORDERED 300 LAS 20 28 22 10 50 H CASING SIZE SY DEPTH3461 TUBING SIZE DEPTH DRILL PIPE DEPTH Country Scored D'V 1100 TOOL DEPTH PRES. MAX 1100# MINIMUM 800-# COMMON MEAS, LINE SHOE JOINT POZMIX CEMENT LEFT IN CSG. GEL @ 23 PERFS. CHLORIDE á DISPLACEMENT 815 ASC **@** EQUIPMENT 3000 @<u>16:82_2022:0</u>= 1350 @ 24.35 3.55. 250 @ 18.90 2.83 7.5 @ 9.80 735.5 <u>5914</u> PUMP TRUCK CEMENTER ΩF # 606 HELPER Keningod 555 6-10/27 DV 1100 BULK TRUCK Mud Cleane 10080 71.60 716.00 # 599 DRIVER Da **BULK TRUCK** @ DRIVER Pet Helmen HANDLING 334, 55 @2:48 828.76 MILEAGE 1363416 REMARKS: TOTAL 11.631. Shop, But Abblis Dulles, 5 Hzo SERVICE Obbls Country 5 420, Missal DEPTH OF JOB 3461 250 230 Ast 1020 Sout, 410 of 190 F1-160 PUMP TRUCK CHARGE EXTRA FOOTAGE @ 7.70 MILEAGE HUM @ 4.40 MANIFOLD よい 🏎 @27*5.co* CHARGE TO: CARO DESETUR STREET_ CITY____STATE__ ZIP PLUG & FLOAT EQUIPMENT @ 286.80 @ 475.42 475.52 So" Floor Callar @ <u>57.33 /71-99</u> To: Allied Oil & Gas Services, LLC. @ \$5.41 85.41 You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or TOTAL 1013. 22 contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL SALES TAX (If Any). TERMS AND CONDITIONS" listed on the reverse side. TOTAL CHARGES ___

SIGNATURE

IF PAID IN 30 DAYS DISCOUNT